wF 3Ly & R = 15
i DCHTAS 40 < AREFAREASEET IR E
e TR ks W A om0 4 [P BRI TR S
&| AR QEE:R A==z —% %ﬁﬁﬁtﬂéﬁtﬁé 9 = "
LA X
1 [EiE2 85k
(1) BEEEIRBLHNIEN o B2 H XI5k —#t sepE 90  —| —
(2)  LELLAS O i 50 | L.1[H 78 1224 | —
2 BsEimwv
(1) R S A oD Ji2 i 1 e s 3Rl 52 | —
(2)  ERELIAS > Hl 50 | L1k 54 7]~ —
3 _EREEML oo itk
(1) B2 AR B b A oD J Y b X 5k —fFli 26§t 39 = =
(2)  LRELAS O e 50 | L2|¥ 37 sl —|  —
) fEE [ERETR (R — | MR (kTR | —
TR C A Xk
1 FRRSER B PN O Jo% P 1 ok —t 4lpl 57— —
2 _BRELSH o sk 50 | L.1[F self 80 | —
&| DikcaR(o1ES S — | EMR [TTEeYET R — —
A L XK
1 REERELIRA O B H X —fili 26l 31 = -
2 _LFRLSR o 50 | L2F 31f 38 — =
B e SR B UG P O f T 3 —WE 2upE 2 — —
RCLAA O Hintek 50 | L1(f 2¢f 34 | —
B i R — | BRER (HEHLMER R — —
T HE AR [l 50 | L1|h 26 371 —| —
7a| HEk b X Ak — | B [T | —
T (LA X
1 EE1 156
(1) BsetiR BN o B2 H Ik —i s 92 | —
(2)  ERCLASL o Hilak 50 | L1|H 7if o128 — -




SFN 3ESY 5 R 7% 28
T PCHT RS 4 - AR ARAR SEHT PR
R I B B I B i = W WETSY AL A
% o fa o & @ = f#
7R HER 2 [EiE2 85 50 | L1 72 1220 | —
3 RaEHRW
(1) FR 2R BRI P o F2 A b (X I —H 26t 33 —| —
(2)  _EFELASN OO HiE 50 | L.1|F 36F 52 —
4 _EERLDIS o HhdER
(1) fREERIHIERP 2= H b —f e 25 | —
(2) BRSO bk 50 | L1|F 23F 36 —
®E o e BRI PN 0D f Y i DKk —ft 13 22 —
ERREAS o Hirdee 50 | L2|H 18 32 — —
KI5 g=c 50 | 1.1 [fTHHET T o=
W AR L XA — | B [T LY Y =
L AR (K dsk
1 EHiE1l 1500
(1) AR BRI PR D 5 b X —ifti 67l 107  —| —
(2) BRSSO IR 50 | L1|F 84 139 —| —
2 BBk EEFHRE W 50 | L1|F 77 o129~ —
3 RSO RGER N
(1) 3R BUMIRPN o 5 i XS — 2Tl 46 —| —
(2)  EFELAS O Mt 50 | L.1[H 43 ed | —
4 _ERCLIS Dl
(1) B SEAR SRS PN 0D 8 T b X ik — 20fE 28— —
(2)  _LFELASH O Hithk 50 | L1 28 39 — —
Rz ik — | Bed [METLE —| —




